PI.	ANT	ENTER	PRISES	PRODUCTION

Crop COTTON	Producers	Acres	Acre	n 1 '		
			71010	Production	Measure	Value
Lint - Non-irrigated		4,781.0	798.00	3,815,238	lbs.	\$2,098,381
Seed - Non-irrigated		4,781.0	1,277.00	6,105,337	lbs.	\$305,267
Cotton (Total)	*	4,781.0				\$2,403,648
FORESTRY						
Pulpwood						
Pine				51,777	cords	
Hardwood				13,868	cords	
Pulpwood (Total)				65,645		
Chip & Saw				3,658	cords	
Saw Timber						
Pine				17,575,248	board feet	
Hardwood				573,637	board feet	
Saw Timber (Total)				18,148,885		
Total Pulpwood, Chip & Saw	•					\$13,348,554
Saw Timber FOB Mill						
Total Forestry Stumpage						\$8,021,769
Forestry (Total)						\$13,348,554
FRUITS						
Blackberries	*	0.3	1,100.00	275	pints	\$275
Blueberries	*	20.0	2,000.00	40,000	lbs.	\$50,000
Figs	*	1.0	500.00	500	lbs.	\$600
Mayhaws						
Orchard	*	3.0	130.00	390	lbs.	\$585
Mayhaws (Total)		3.0				\$585
Muscadines						
Fresh	*	0.5	300.00	150	gals	\$1,200
Muscadines (Total)		0.5				\$1,200

PI.	ANT	FNTFR	PRISES	PRODUC	TION

		PLANI EN	<u>IERPRISES PROI</u>	DUCTION		
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FRUITS						
Peaches	*	12.0	140.00	1,680	bu.	\$50,400
Fruits (Total)		36.8				\$103,060
FEED GRAINS						
Corn	*	2,732.0	1.00	2,732	bu.	\$6,202
Oats	*	6.0	70.00	420	bu.	\$722
Feed Grains (Total)		2,738.0				\$6,924
HAY FOR SALE						
Grass	35	12,000.0	2.50	30,000	tons	\$1,500,000
Hay for Sale (Total)		12,000.0				\$1,500,000
HOME GARDENS	350					\$105,000
NURSERY CROPS						
Floraculture & Bedding	*				acre	\$3,125
Plants						
Woody Ornamentals	*				acre	\$1,250
Foliage Plants	*				acre	\$1,250
Nursery Crops (Total)						\$5,625
PECANS						
Improved	*	60.0	600.00	36,000	lbs.	\$46,800
Native	10	30.0	500.00	15,000	lbs.	\$15,000
Pecans (Total)		90.0				\$61,800
SOYBEANS	7	6,192.0	43.00	266,256	bu.	\$1,653,450
VEGETABLES						
Broccoli (Fresh)	*	0.1	300.00	30	cartons (20 lbs.)	\$450
Cabbage					,	
Fresh	*	0.1	500.00	50	sacks (50 lbs.)	\$350
Cabbage (Total)		0.1			, ,	\$350

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of	Gross Farm Value
	Producers	Acres	Acre	Production	Measure	value
VEGETABLES						*
Cantaloupe	*	0.5	200.00	100	cartons (40 lbs.)	\$1,500
Carrots	*	0.1	400.00	40	doz. bunches	\$280
Cauliflower	*	0.1	340.00	34	cartons (20 lbs.)	\$510
Collards						
Fresh	*	2.0	500.00	1,000	doz. bunches	\$7,000
Collards (Total)		2.0				\$7,000
Cucumber						
Fresh	*	1.0	350.00	350	bu. (50 lbs.)	\$3,500
Cucumber (Total)		1.0				\$3,500
Eggplant	*	0.1	500.00	50	bu. (33 lbs.)	\$750
Garlic	*	0.1	4,500.00	450	lbs.	\$1,800
Irish Potatoes						
Fresh	*	7.0	155.00	1,085	cwt.	\$37,975
Irish Potatoes (Total)		7.0				\$37,975
Lima Beans						
Fresh	*	0.5	75.00	37	bu. (32 lbs.)	\$1,295
Lima Beans (Total)		0.5				\$1,295
Mustard (Fresh)	*	2.0	580.00	1,160	doz. bunches	\$8,120
Okra (Fresh)	*	4.0	300.00	1,200	bu.	\$30,000
Onions	*	1.0	135.00	135	bag (50 lbs.)	\$3,375
Green Onions	*	0.5	1,500.00	750	lbs.	\$1,500
Peppers						
Banana	*	0.1	600.00	60	bu. (25 lb.)	\$900
Bell	*	1.0	800.00	800	bu. (28 lb.)	\$12,000
Cayenne (Processing)	*	0.1	70.00	8	cwt.	\$200

PLANT ENTERPRISES PRODUCTION

	<u>l</u>	PLANT ENTERPRISES PRODUCTION							
	lumber of		Yield per	Total	Units of	Gross Farm			
Crop	Producers	Acres	Acre	Production	Measure	Value			
VEGETABLES									
Chili - Anaheim (Fresh)	*	0.1	400.00	50	bu. (25 lb.)	\$750			
Hungarian Wax (Fresh)	*	0.1	400.00	50	bu. (25 lb.)	\$750			
Jalapeno	*	0.1	350.00	43		\$645			
Tabasco Green (Processing)	*	0.1	20.00	2	cwt.	\$118			
Tabasco Red (Processing)	*	0.1	20.00	2	cwt.	\$140			
Yellow Hots (Fresh)	*	0.1	200.00	25	bu. (25 lbs.)	\$375			
Peppers (Total)		2.0				\$15,878			
Pumpkin (Fresh)	*	1.0	75.00	75	cwt.	\$1,500			
Radish	*	0.1	950.00	118	doz. bunches	\$826			
Snap Beans (Fresh)	*	1.0	150.00	150	bu. (30 lbs.)	\$3,750			
Southern Peas (Fresh)	*	50.0	100.00	5,000	bu. (24 lbs.)	\$125,000			
Squash (Fresh)									
Yellow Squash	*	0.5	150.00	75	bu. (45 lbs.)	\$1,125			
Zucchini Squash	*	0.1	200.00	25	bu. (45 lbs.)	\$300			
Squash (Fresh) (Total)		0.6				\$1,425			
Sweet Corn (Fresh)	*	50.0	950.00	47,500	doz. ears	\$166,250			
Tomatoes (Field)	*	15.0	1,700.00	25,500	lugs (20 lbs.)	\$459,000			
Tomatoes (Green Mature)	*	2.0	1,200.00	2,400	boxes (25 lbs.)	\$28,800			
Turnips (Fresh)	*	1.0	520.00	520	doz. bunches	\$3,640			
Watermelon	*	10.0	180.00	1,800	cwt.	\$14,400			
Vegetables (Total)		151.8				\$918,874			
WHEAT	*	2,180.0	40.00	87,200	bu.	\$283,400			
TOTAL ALL PLANT ENTERP	RISES					\$20,390,335			

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Pichadaa	Number of	Units of		Total	Units of	Gross Farm
Fisheries	Producers	Production		Production	Measure	Value
FRESHWATER FISHERIES						
Crawfish (Wild) **	20			3,000	lbs.	\$1,740
Freshwater Finfish **	20			15,000	lbs.	\$4,800
Freshwater Fisheries (Total)						\$6,540
FUR ANIMALS				65	pelts	\$477
ALLIGATORS (WILD)				22	ft.	\$473
HUNTING LEASES						
Waterfowl	8	7,000	No. Acres		acre	\$350,000
			Leased			
All Other Game	15	12,000	No. Acres		acre	\$66,000
		•	Leased			·
Hunting Leases (Total)						\$416,000
HONEY	10	70	No. Hives	7,100	lbs.	\$5,254
TOTAL ALL FISHERIES & V	VILDLIFE ENTERPRISES			•		\$428,744

^{**} The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			1,200	head	\$531,468
400-500 lbs.			1,100	head	\$555,291
500-600 lbs.			1,100	head	\$614,983
600-700 lbs.			800	head	\$509,600
Steer Calves (Total)					\$2,211,342
Heifer Calves					

ANIMAL ENTERPRISES PRODUCTION

A : 1	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
CATTLE & CALVES					
300-400 lbs.			1,300	head	\$524,115
400-500 lbs.			1,300	head	\$604,598
500-600 lbs.			1,100	head	\$580,619
600-700 lbs.			900	head	\$538,200
Heifer Calves (Total)					\$2,247,531
Yearling Cattle					
600-700 lbs.			1,200	head	\$764,400
700-800 lbs.			825	head	\$569,250
Yearling Cattle (Total)					\$1,333,650
Cow-Calf Pairs			2,600	pair	\$2,470,000
Cull Cows			,	head	\$739,143
Cull Bulls			300	head	\$275,535
Cattle & Calves (Total) DAIRY	85	13,000 No. Cows			\$9,277,200
Dairy Goats	*	5 Total Adult	2,000	Pounds	\$440
Daimy (Tatal)		Does			\$440
Dairy (Total) HORSES					\$440
Brood Mares					
Race Horses	*	90 No. Brood Mares	. 55	head	\$440,000
Show Horses	6	30 No. Brood Mares		head	\$70,000
Recreation Horses	40	150 No. Brood Mares	-	head	\$150,000
Brood Mares (Total)	40	130 No. Blood Males	5 100	neau	\$660,000
Stud Fees					\$000,000
Race Horses		8 No. Stallions	600	mares bred	\$1,200,000
Show Horses		6 No. Stallions		mares bred	\$1,200,000
Recreation Horses		10 No. Stallions		mares bred	\$40,000
recreation morses		10 110. Stafffolis	200	marcs orcu	Ψ τ υ,000

ANIMAL ENTERPRISES PRODUCTION

	ATTIVIA	AL ENTERI RISES TRODUCT	ION		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					
Stud Fees (Total)					\$1,390,000
Race Horses	*		10	head	\$100,000
Show Horses	12		40	head	\$160,000
Recreation Horses	70		200	head	\$300,000
Horses (Total)					\$2,610,000
GOATS					
Show Goats			10	head	\$1,850
Slaughter Goats			190	head	\$19,950
Stocker Goats			100	head	\$8,500
Cull Goats			50	head	\$3,000
Goats (Total)	12	250 No. Does			\$33,300
TOTAL ALL ANIMAL I	ENTERPRISES				\$11,920,940
RED RIVER PARISH	I TOTAL				\$32,740,018